
Subtracting a 1 digit number to a teens number 

Answer the number sequences - can you spot a pattern? 

Fill out the ones and tens boxes using the number sentence

1. 17 - 3 =

2. 12 - 7 =

3. 16 - 1 =

4. 12 - 5 =

5. 19 - 2 = 

1. 4 - 2 =

   14 - 2 =
 - =

 - =

2 - 5

7 - 3

6 - 1

9 - 2

 2 - 7

Draw arrows to match the number bond 
that will help you answer the question 

Answer the number sequence 

Example:

12 - 6 =  6  6 - 2



2. 7 - 3  = 

   17 - 3 =

 

3. 8 - 5 = 

   18 - 5 =

 

4. 9 - 4 =

   19 - 4 =

5. 3 - 2 = 

   13 - 2 = 

 - =

 - =

 - =

 - =

 - =

 - =

 - =

 - =


